Mental Computation (End term 3 - Sample 1)



1 (N6.2)






Simplify:  a5a−3



2 (PA6.2)




Expand:  −3(4x − 5)


3
(PA6.2)




Factorise:  2x − 10



4
(N6.1)






Write  0.000 074 in scientific notation


5
(PA6.1)




y=5x − 2.

What is the y-intercept?


6
(PA DB6.2)

What is the quadratic formula?


7 (CD6.1)




What is the probability of an impossible event?

8
(CD5.1)




A six-sided die is tossed, what is P(3)?

9
(M6.1)





Two sides in a right-angled triangle are 1 and 3. Hypotenuse?

10
(M6.1)





In the triangle shown, what is tan 60°?
Mental Computation (End term 3 - Sample 2)

1 (N6.2)






Simplify:  c4c−2



2 (PA6.2)




Expand:  −5(2x − 3)


3
(PA6.2)




Factorise:  4x − 12



4
(N6.1)






Write  36 000 000 in scientific notation


5
(PA6.1)




y=−2x − 1.

What is the gradient?


6
(PA DB6.2)

What is the quadratic formula?


7
(CD6.1)




What is the probability of a certain event?

8
(CD5.1)




A six-sided die is tossed, what is P(even)?

9
(M6.1)





Two sides in a right-angled triangle are 1 and 5. Hypotenuse?

10
(M6.1)





In the triangle shown, what is sin 60°?
Mental Computation (End term 3 - Sample 3)

1 (N6.2)






Simplify:  d5d−3



2 (PA6.2)




Expand:  −2(3x + 5)


3
(PA6.2)




Factorise:  3x − 12



4
(N6.1)






Write  2 300 000 in scientific notation


5
(PA6.1)




y=−5x + 3.

What is the gradient?


6
(PA DB6.2)

What is the quadratic formula?


7
(CD6.1)




What is the probability of a fifty-fifty event?

8
(CD5.1)




A six-sided die is tossed, what is P(odd)?

9
(M6.1)





Two sides in a right-angled triangle are 2 and 3. Hypotenuse?

10
(M6.1)





In the triangle shown, what is tan 45°?













1





45°





√2





1





c2=a2+b2


c2=12+52


c2=26


c=√26





1





60°





√3





2





c2=a2+b2


c2=12+32


c2=10


c=√10





1





60°





√3





2











